CENLANA ASC Meeting

Central Louisiana Area of Narcotics Anonymous Area Service Committee Meeting

Meeting convened at 12:30 pm on 12-19-2020

The meeting was opened by Jack H. with a moment of silence followed by the Serenity Prayer.

Doug read the 12th Tradition and Robbie read the 12th Concept.

Administrative Service Committee

Chairperson- Jack H.	Present	X34X8X5641X9436X
Vice Chair- Dustin	Present	X31/8X528X0/22/6
Treasurer- Doug F.	Present	(8X8)X447X124X
Secretary- Erica C.	Absent	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
	Subcommittees	
H & I- Trevis J.	Present	(XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
PR- Trevis J.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
Literature- Trevis J.	Present	%X\$XXXXXXXXXX
Policy- Ashley C.W.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
ASR- Robbie L.	Present	XXXXXXXXXXXX
ASRA- Jack H.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
Activities - Ashley C.W.	Present	X34X8XX486XX968X8

Group Service Representatives

Group		/oting	Host
Clean & Serene	Dustin	Yes	July.
High Noon	lke (absent)	No	Aug.
Jones Street	Rocky S.	Yes	Sept.
New Life Group	Robert W.(absent)	No	Oct.
No Matter What	Greg H.	Yes	Nov.
Talking Heads	Doug F.	Yes	Dec.
Zoo Krew	Malcolm B.	Yes	Jan

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve report.

Treasurer's Report: (see Doug for any questions)

Treasurer reading report to ASC to submit

Motion was made to accept the Treasurer's report.

The Treasurer's report was accepted by ASC.

Ashley

Subcommittee Reports:

H & I: Trevis read the report (report attached) Public Relations: Trevis read the report (report attached) Literature: Trevis read the report (report attached) Policy: Ashley read the report (report attached) ASR: Robbie read the report (report attached)

GSR Reports:

Activities:

Clean & Serene: Dustin read the report (report attached) High Noon: lke read the report (absent) Jones Street: Rocky S. read the report (report attached) New Life Group Robert W read the report (absent) No Matter What: Greg H read the report (report attached) Talking Heads: Doug F read the report (report attached) Zoo Krew: Malcolm B read the report (report attached)

read the report

(report attached)

Old Business: (New or unresolved business from last ASC meeting).

Discussion on the floor to have literature provide inventory and invoices and to elect a vice chair due to chair working on weekends. Vote will be handled at Area Subcommittee on 12-12-20. Discussion on the floor concerning members being more vigilant in wearing masks at meetings and practicing social distancing to prevent the spread of the virus at our meeting facilities.

New Business:

Greg H requested that all GSR's bring to their homegroups the option to eliminate couches when the remodel is complete. Frank A has started a new homegroup on Saturday nights called "The Addicts' Family." High noon will be dropped from the Area meeting agenda. Literature requested \$80 for basic texts and step guides. Prices on literature list have been updated as needed to lower costs to addicts. Robbie brought up reading all concepts to open area meetings. A vote was held and the Asr's agreed. Talking Heads requested that the Area donate \$100 to buy fireworks for the New Year's Eve party, which was voted against. Instead, Area would buy or receive donated fireworks, which would then be raffled off. Whoever wins the raffle will be responsible for when and where they shoot them.

Elections:

Trevis nominated Pam W as Secretary for Area. Ashley 2nd. Motion passed.

Announcements:

Zoo Krew will be celebrating Stephanie M. 13 years Monday, January 18th at 7pm. Activities will be hosting a New Years Eve event on Thursday December 31st at River City clubhouse after the meeting. Zoo Krew to host January Area at the River City Clubhouse January 16th at 12 noon.

Final Treasurer's Report:

Presented and read by Doug F. (See Doug for details)

Motion made to accept final Treasurer's Report. All in favor.

Motion to close, all in favor.

Meeting adjourned at 2pm.

	NA Trasour Report Area Dec. 19, 2020 Deposit 12/15/20 \$752.22 12/19/20 164,00
	12/19/20 164,00
	ENLING BALANCE 11-21-20 \$1438.67 BANK BALANCE \$2,046.89 Out standing Checks 11-21-20 \$20.00 RENT Finds Held Aside; Prodent Reserve \$150.00
	BANK BA) ANCE \$2,046,89
	Out standing Checks 11-21-20 \$20,000 RZNT
	Find4 Held Aside: Prodent Acserve \$150,00
	Activities 400,00
	NOT 50.00
	P.R. 30.00
	Secretary 30.00
	R4C Travel 200,00
	Tu441 \$860.00
	Expenses: Activities \$250,00
	Rznt 20.00
	Freedom to to
	CAKE Expense AUb.78 pd. CASh 1216.78
0	to Lexie
- 1	T 0+A 129000
	AUASIAPIE BALANCE \$1166,99
	DONATIONS Groups Clean+Serene \$100.00
	No Matter Whit 64,00
	TptA1 \$164.00
	Funds c/A.mel Act: vities \$1250,00
	08-18-11 00, 401 # NI Nand
	サンション 15-15-70

CONTINUE

Beginving Bot. 12-19-20 \$2190.89 *Monsier Set Hasde \$800.00 AUA: 1246 Bod. 12-19-20 \$1330.89		0 -> -> -> -> -> -> -> -> -> -> -> -> ->	A 100 09	
Augilable Bali 12-19-20 \$ 1330,87		Beginning DAL. 1249-20	#2190,89	
		Mouses get thide	W 15 - 79	
		AUA: 1246 BAI 12-19-20	\$ 1330:01	
	_			
	-			
4				
1				
4				
4				
6				
q				
q				
		4		
	-			



MANAGE YOUR CASH

CASH MANAGEMENT | CHECKING | MONEY MARKET | CDs | LOANS

Q211

CENTRAL LA AREA OF NARCOTICS ANONYM@U9997 2130 POLK ST ALEXANDRIA LA 71301

րրել երյունի թվականակ միվ Ուկլի ին երվին

▶ Contact your Relationship Manager to discuss targeted solutions for your evolving business needs.

ACCOUNT SUMMARY

FOR PERIOD NOVEMBER 01, 2020 - NOVEMBER 30, 2020

Spark Basic Checking			TRAL LA AREA OF CS ANONYMOUS
Previous Balance 10/31/20	\$1,664.90	Number of Days in Cycle	30
0 Deposits/Credits	\$0.00	Minimum Balance This Cycle	\$1,544.67
2 Checks/Debits	(\$120.23)	Average Collected Balance	\$1,595.51
Service Charges	\$0.00		
Ending Balance 11/30/20	\$1,544.67		

ACCOUNT DETAIL FOR PERIOD NOVEMBER 01, 2020 - NOVEMBER 30, 2020

Spark	Basic Ch	ecking @		NARCO	TICS ANONYMOUS
Date	e Description		ription Deposits/Credits		Resulting Balance
	Check			\$106.48	\$1,558.42
11/13	CHECK	1370		¢12.75	¢1 51/1 67

11/19 ACH Withdrawal FreedomVoice \$13.75 8004771477 111920 Glenn Gillard 036-0036662907 \$130.23

Total \$0.00 \$120.23

Spark Basic Checking 20002081988512. CENTRAL LA AREA OF NARCOTICS ANONYMOUS

Checks * designates gap in check sequence

11/13

1378

\$106.48

CIICONS O	iesignates qu	ap in check sequente						
					The state of the s	~1 1 41	D - 4 -	Amount
	D .	A	Check No.	Data	Amount	Check No.	Date	Amount
Check No.	I late	Amount	Check No.	Date	Alloune	CITCOL ITO.		
CHECK 140.	Date	,						

Thank you for banking with us.

PAGE 1 OF 4



CENTRAL LA AREA OF





MANAGE YOUR CASH

CASH MANAGEMENT | CHECKING | MONEY MARKET | CDs | LOANS

CHECK DETAIL FOR PERIOD NOVEMBER 01, 2020 - NOVEMBER 30, 2020

Spark Basic Checking

CONTRAL LA ANDLO OF MADOTTES A ROPENTADOS

SIGNIFICACIÓN

TOS SIDE LA CAMB

O TOS SIDE LA CAMB

CONTRAL TARRAM

CONTRAL TOS SIDES

CONTRAL TOS SID

#1378 11/13 \$106.48

H&I Area Report

H&I met Saturday December 12th at our Area Subcommittee meeting. H&I still continues monthly meetings at Gateway on the 1st Saturdays of the month from 6:30 to 7:30pm and the proceeding Saturdays will be speaker meetings from N.A. members with 1 or 2 addicts sharing their own story and still keep within the traditions of N.A. We are practicing social distancing and mask requirements per facility and state guidelines. I would like to thank all those who are a part of this vital service to reach the still sick and suffering addict.

Respectfully Submitted Trevis J H&I Chair

P.R. Area Report

Greetings members,

We discussed keeping our business card holders full and I issued a new holder to a subcommittee member to display in the community. We had a few calls this month on our Hotline seeking information about our meetings and I discussed updating the message that people hear when calling the Hotline. I will update the meeting schedule that are at the clubhouses in our Area due to some groups possibly changing their meeting times and the addition of a new Saturday Group that will be meeting at River City 7pm. Thank you for allowing me to be of service.

Respectfully Submitted Trevis J P.R. Chair

	2 itersture Chair
	At This point I Robert W.
	will be resigning for Literature Chair
	will be resigning for Literature Chair to focus more on my home group. Thank yall for allowing me to be
	Thank yall for allowing me to be
	of service Louking Perward to working with "Area" to make our 'Area" more unified. Your receipt t "20" was my on hand modey. Thanks for The
	working with "Area" to make our
	'Area" more unified. Your receipt +
	2000 was my on hand modey.
	Thanks For The
	Opportunity to Serve
	Robert W.
Cust !	

Literature Spreedsheet V.5.2020

Item	Quantity	Cost		Cos	st Total	Sale	e Price	Sal	es Total
Basic Text	2	\$	12.15	\$	24.30	\$	14.00	\$	28.00
Guiding Principles	2	\$	11.65	\$	23.30	\$	14.00	\$	28.00
It Works How & Why	3	\$	9.55	\$	28.65	\$	12.00	\$	36.00
Living Clean	0	\$	10.35	\$	-	\$	12.00	\$	_
Just for Today Meditaton	2	\$	9.55	\$	19.10	\$	12.00	\$	24.00
Step Working Guide	. 0	\$	9.00	\$	-	\$	11.00	\$	-
NA White Book	0	\$	0.80	\$	-	\$	2.00	\$	-
Totals:				\$	95.35			\$	116.00

Tag / Medallion / Chip

Tags					
White	41	\$ 0.56	\$ 22.96	\$ 0.65	\$ 26.65
30Day	29	\$ 0.56	\$ 16.24	\$ 0.65	\$ 18.85
60Day	43	\$ 0.56	\$ 24.08	\$ 0.65	\$ 27.95
90Day	58	\$ 0.56	\$ 32.48	\$ 0.65	\$ 37.70
6Months	22	\$ 0.56	\$ 12.32	\$ 0.65	\$ 14.30
9Months	7	\$ 0.56	\$ 3.92	\$ 0.65	\$ 4.55
1Year	54	\$ 0.56	\$ 30.24	\$ 0.65	\$ 35.10
18Months	28	\$ 0.56	\$ 15.68	\$ 0.65	\$ 18.20
2+ Years B&G	20	\$ 0.56	\$ 11.20	\$ 0.65	\$ 13.00

White	0	\$	0.40	\$		s	0.50	\$	
		Ψ	0.40	Ψ		Ψ	0.50	Φ	
Medallion	8	\$	3.40	\$	27.20	\$	5.00	\$	40.00
Totals:				\$	196.32			\$	236.30

I.P. Purchase

Cash

On Hand \$ 20.00		
20.00	On Hand	\$ 20.00

Turning In	\$

Recieving	\$



REPRINTED

Lone Star Regional Service Office, Inc.

10420 Plano Rd., Suite 101 Dallas, TX 75238 214.570.1900 www.lsrso.com

Ship To:

Robert Williams 2329 Wise Street Alexandria, LA 71301

Bill To:

Robert Williams 2329 Wise Street Alexandria, LA 71301

m #	Description	Qty	Attribute Size	Orig Price	Disc % Price	Ext Price Tax
	Basic Text - Hard Cover	3	Hard Cover	\$12.15	\$12.15	\$36.45
	Just For Today Book Meditation	2	*	\$9.55	\$9.55	\$19.10
4	Green-60 Day Key Tag	10	*	\$0.56	\$0.56	\$5.60 T
2	Orange-30 Day Key Tag	10	*	\$0.56	\$0.56	\$5.60 T
)	White/Welcome Key Tag	40	*	\$0.56	\$0.56	\$22.40 T
3	29 Year Medallion Bronze	2	*	\$3.40	\$3.40	\$6.80 T

Subtotal: \$95.95 Out of State 0 % Tax: + \$0.00 Shipping: + \$17.00

RECEIPT TOTAL: \$112.95

Credit Card: \$112.95 VISA

Order Notes: Order status changed from Failed to Processing. Payment Method: Credit Card

Transaction ID: rg1cpsjr Shipment Method: Flexible Shipping Tracking number:

Order Notes: Order status changed from Failed to Processing.

Please report any discrepancies with 10 days of receipt of your order. Thanks. Thanks for shopping with us! Keep Coming Back!

Policy Report 12/19/20

ASR Report

Hey family,

I am reading the zone reports from region to Area. There are no motions to be voted on. If you would like a copy of the reports please get with me and I can forward you the full report.

Thanks ASR Robbie lee

activities Report

ur went on December), was a success. This minus

38 nediately SLM 15.

Jores & Grap Report Meeting on Wednesday at 7:00 pm at River City Clubhouse No new members 1 active member We oberage about 6 people per meeting No birthdays this month. No donation Rocky S.

No matter what Home - Group

Hello Family,

Group Attendance has been averaging

8-12 participants. We are Continuing with

our est, meet and greet format every

Thursday NIGHT. WE have Cexi celebrating

(1) year on January 7, 2020. We also just

gained (3) new home-group members.

We elected Grey H. for GSR position on

12/17/2020. We look forward to a happy and

Safe NEW year. Our Home-Group would like

to wish everyone a very merry Christmas.

Area donation - #25.00—

Grate folly Serving,

Greg H. Q

Report to Area

12-19-20

Doug P-GSR

My NAME is Doug and I aman addict.

We still have 2 meetings a week, At group

conscience we got someone to open Tuesday

Night meetings but if any group wants to

pick it up feel free to do it. It was a

group conscience to buy \$100.00 worth

of fire crackers for the New Years function.

In Loving Service,

Doug F.

The Saturday right meeting at River City Clubhouse at 7:00 PM is officially a homegroup. The name of the homegroup is The Addicts Family. Today we have an area donation of \$5. Trank you for allowing me to be of service. Frank A. The Addicts Family



Got your flu shot? Way to go!

Hello Family Zoo Crew is doing well. We meet even Man. @ 7 Pm. Our attendance is down the lections are down. We have I birthday Stephany with 13 yrs. She will celebrate on the 18th. Yours in service

Blue Cross and Flue Shield of Louisiana HMO offers Blue Advantage (HMO). Blue Cross and Blue Shield of Louisiana, incorporated as Louisiana Health Service & Indemnity Co., offers Blue Advantage (PPO). Both are independent licensees of the Blue Cross and Blue Shield Association

01MA1935 02/20

20-021_Y0132 C

Treasureu VI date Report 12-19-20 Starting Bal. 12-19-20 117.38 Monie, IN \$1308.27 Moniel Out \$11958.27 860.00 set 75, die \$1098.27 Pet. +AC . O.t. \$219.65 LONATion to Ared Bro. Bot. \$1738.62 20.00 Act. Rout \$1718,62 End. B.41